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Gain of the PMT

—
1 SPEE| BB P SK GAIN (10E6)
900 2. 03 140, 7 106 1.3
1000 4. 68 324, 3 106 3.1
1100 10 £92. 9 106 6. 5
1200 20. 4| 69. 2895 1413. 5 106 13.3
1300 40 2771, 6 106 06. 1
1400 78 5404, & 106 51.0
1500 157 10878. 5 106 102. 6
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Exponential linear

SP=SP(EER{E)* &R X
Gain(10E6)=SP/SK
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X=2320 (1000V)

1000
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Y: number of events
X: Npe*Gain*10-°

Npe=X/Gain*10-6=2320/3.1=748

Bin Count: 107

Bin Center: 2.32e+03
Bin Edges: [2.27e+03, 2.38e+03]
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600 I I

500
X=2810 (1100V) Y: number of events
X: Npe*Gain*10-°
400
Npe=X/Gain*10-6=2810/6.5=432
300
200
Bin Count: 92
Bin Center: 2.81e+03
100 Bin Edges: [2.77e+03, 2.86e+03]




140 I |

120
X=3610 (1200V) Y: number of events
100 X: Npe*Gain*10-°
80 Npe=X/Gain*10-6=3610/13.3=271
60
40 Bin Count: 23

Bin Center: 3.61e+03
Bin Edges: [3.57e+03, 3.66e+03]
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X=4300 (1300V)

Y: number of events
X: Npe*Gain*10-°

Npe=X/Gain*10-=4300/26.1=164

Bin Count: 19

Bin Center: 4.3e+03
Bin Edges: [4.26e+03, 4.35e+03]
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250 —

160 —

X=4880 (1400V)

Y: number of events
X: Npe*Gain*10-°

Npe=X/Gain*10-=4880/51=96

Bin Count: 69

Bin Center: 4 88e+03
Bin Edges: [4.82e+03, 4.93e+03)
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Why does NPE vary with high voltage? (it is not the real NPE)
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